Potencias de 10 (C)

24 107

69 - 10°

100 =102

4 =102

74 =102

77 =+ 10?

32+10°

6= 10?

3 =102

5+ 107

Calcule los siguientes cocientes.

86 +—10?

15 =102

54+ 10?

94 = 10?

13 +10?

32+ 10?

66 = 10?

52+ 107

58 = 10?

62 = 10?
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Potencias de 10 (C) Respuestas

24+ 107
0.24
69 = 10°
0.69
100 = 10?
|
4+10°
0.04
74 107
0.74
77 =107
0.77
32107
0.32
6+ 10?
0.06
3+10?
0.03
5+10°
0.05

Calcule los siguientes cocientes.

86 + 107
0.86
15+ 10?
0.15
54 +10°
0.54
94 = 10°
0.94
13 +10?
0.13
32107
0.32
66+ 107
0.66
52 +107
0.52
58~ 107
0.58
62+ 107
0.62
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